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1. Consider only the steady-state plasma dynamics [n the following discussion. {20%4)

(1} When charged particle motion in the presence of collisions with neutral particles,

show the equation of metion of the charged perticle can be expressed as
ﬂ=lf5+ﬂ?x$-w‘*
& m
where F 5 g general force
m it the particle mass

£} 15 the gyro frequency
b is B/E an unitvector along B field

v i the collision frequency
(2} Setting the time derivation ta zero, solve the motion along and transverse to 5.
(3) I the velocity of the neutral wind is £ | rewrite the equation of motion in (1},
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